General Clerk Fees - Pershing

Document copies (per page)			\$0.50
<u>Seal</u>			
NRS 19.013 G	eneral Fund	\$	3.00
For issuing any certifi	cate under seal where not otherwise	\$	3.00
Issuance an Original Writ			
NRS 19.0302 A	B 65	\$	10.00
For the issuance of any writ	of attachment, writ of garnishment,		
writ of execution or any	other writ to enforce any judgment		
		\$	10.00
Searching Records (per year)			\$1.00

Adoptions (Adult/Minor)

If the adoption proceeding involves a special needs child (NRS 19.034) \$			1.00
When filing a new Adoption Proceeding\$			233.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.013 (1)	General Fund	\$	56.00
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.0302	AB 65	\$	99.00

Answers, Appearances, Oppositions

General Civil			
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
When a defe	ndant/respondent answers (files a fi	irst	
	int/Petition; to be paid upon the fili	_	
	ction for Civil and Domestic cases I	not	218 00
	• •	not	218.00
of the first paper in the a	ction for Civil and Domestic cases I	not	218.00
of the first paper in the a	ction for Civil and Domestic cases i contained in NRS 125	not	218.00
of the first paper in the a	ction for Civil and Domestic cases in contained in NRS 125	not	
of the first paper in the a Multiple Parties in S NRS 19.0335(2)(a)	ction for Civil and Domestic cases in contained in NRS 125 Single Answer/Appearance District Court Tech Fund	not	8.00
Multiple Parties in S NRS 19.0335(2)(a) NRS 19.0335(2)(b)(1)	ction for Civil and Domestic cases in contained in NRS 125 Single Answer/Appearance District Court Tech Fund Legal Aid (2) (Eld. Ind.) Sr. Ctr	not	8.00 2.00

	lefendant named in a single civil answ appearance (see example on back pag		30.00
Eviction/Tenant			
NRS 19.0302	AB 65	Ś	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
On the filing of an answer by a tenant to an eviction action			
		\$	218.00

ANSWERS CONTINUED

Construction D	efect/Complex Litigation		
NRS 19.0302	AB 65	\$	349.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
When a defendant answers (or files a first appearance to) an action involving a Construction Defect or an action labeled as complex \$ 468.00			

APPEALS

Appeals from Justice's Court			
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.020	Clerk's Fee	\$	5.00
NRS 19.013 (1)	General Fund	\$	42.00
On filing an	appeal from the Justice's Court		
		\$	102.00
Appeals to Nevada Supreme Court			
NRS 19.013 (1)	General Fund	¢	24.00

On filing Notice of Appeal to Nevada Supreme Court	\$ 24.00
Bond Costs for civil appeal (Payable to Pershing County Supreme Court filing fee (Payable to Nevada Supreme	500.00 250.00

Complaints (Non-Family Law)

<u>Civil</u>		
NRS 19.0302	AB 65	\$ 99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$ 9.50
NRS 19.031	Legal Aid 02 (Ind)	\$ 15.50
NRS 380.110	Law Library Fund	\$ 30.00
NRS 19.013 (1)	General Fund	\$ 56.00
NRS 19.030	State Remittance	\$ 32.00
NRS 19.020	Clerk's Fee	\$ 3.00
NRS 19.0303	Court Security Fee	\$ 20.00
When filing a new c	ivil complaint (one plaintiff)	\$ 265.00
Construction Defec	t/Complex Litigation	
NRS 19.0302	AB 65	\$ 349.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$ 9.50
NRS 19.031	Legal Aid 02 (Ind)	\$ 15.50
NRS 380.110	Law Library Fund	\$ 30.00
NRS 19.013 (1)	General Fund	\$ 56.00
NRS 19.030	State Remittance	\$ 32.00
NRS 19.020	Clerk's Fee	\$ 3.00
NRS 19.0303	Court Security Fee	\$ 20.00
When filing a r	new constructive defect or complex	
litigati	on complaint (one plaintiff)	\$ 515.00
<u>Interpleader</u>		
NRS 19.0302	AB 65	\$ 99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$ 9.50
NRS 19.031	Legal Aid 02 (Ind)	\$ 15.50
NRS 380.110	Law Library Fund	\$ 30.00
NRS 19.013 (1)	General Fund	\$ 56.00
NRS 19.030	State Remittance	\$ 32.00
NRS 19.020	Clerk's Fee	\$ 3.00
NRS 19.0303	Court Security Fee	\$ 20.00
When filing an	interpleader complaint (one	
<u> </u>	aintiff)	\$ 265.00
r	,	

Additional Plaintiffs		
NRS 19.0335(2)(a)	District Court Tech Fund	\$ 8.00
NRS 19.0335(2)(b)(1)	Legal Aid (2) (Eld. Ind.) Sr. Ctr	\$ 2.00
NRS 19.0335(2)(b)(2)	Legal Aid (2) (Ind)	\$ 5.00
NRS 19.0335(2)(c)	State AOC Technology Fund	\$ 10.00
NRS 19.0335(2)(d)	State AOC Retired Judges	\$ 5.00
For each additional plai	ntiff named in a single civil complaint	
(see example on b	ack page)	\$ 30.00

Complaints (Non-Family Law) (Cont.)

Third Party Comp	<u>laint</u>		
NRS 19.0302	AB 65	\$	135.00
Paid for each plaint	iff within complaint or added thereto	\$	135.00
Foreign Judgmen	<u>ts</u>		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.013 (1)	General Fund	\$ \$	56.00
NRS 19.030	State Remittance		32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
Application to	enforce Foreign Judgment (non		
	domestic)	\$	265.00
Eviction/Landlo	<u>rd</u>		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.013 (1)	General Fund	\$	56.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
On filing of	an eviction action by Landlord	\$	265.00

DOMESTIC RELATIONS CASES

ANSWERS, RESPONSES--RESPONSIVE PLEADINGS

Divorce, Annulment Or Separate Maintenance			
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	13.50
NRS 19.031	Legal Aid 02 (Ind)	\$	25.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
Divorce, Annulment,	Separate Maintenance answer or firs		
appearance		\$	232.00
Child Custody			
Child Custody	A.D. 0.5	_	
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
	Action involving Child	۲ ا	210.00
Custody		\$	218.00
Other Domestic R	Relations Cases		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.0303	Court Security Fee	\$	20.00
NRS 19.013 (1)	General Fund	\$	44.00
Filing a Domestic	Relations Action not covered		
	above	\$	218.00

DOMESTIC RELATIONS CASES (CONT.)

COMPLAINTS, PETITIONS, MOTIONS CHARGING					
	PLEADINGS				
Divorce, Annulme	nt Or Separate Maintenance				
NRS 19.0302	AB 65	\$	99.00		
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	13.50		
NRS 19.031	Legal Aid 02 (Ind)	\$	25.50		
NRS 380.110	Law Library Fund	\$	30.00		
NRS 19.013 (1)	General Fund	\$	56.00		
NRS 19.030	State Remittance	\$	32.00		
NRS 19.033	Displaced Homemakers Fee	\$	30.00		
NRS 440.605	Vital Statistics	\$	10.00		

NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
Civil complaint f	or divorce, annulment or separate		
	maintenance	\$	319.00
Child Custody			
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.013 (1)	General Fund	\$	56.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
When filing a ne	w civil complaint/petition for child		
	custody	\$	265.00
Domestic			
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)		15.50
NRS 380.110	Law Library Fund	\$ \$	30.00
NRS 19.013 (1)	General Fund	\$	56.00
NRS 19.030	State Remittance		32.00
NRS 19.020	Clerk's Fee	\$ \$ \$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
Filing a D	omestic Relations Action not covere	ed	
	above	\$	265.00

DOMESTIC RELATIONS CASES (CONT.)

REOPENING, ADJUSTING, OR MODIFYING THE DECREE			
Joint Divorce I	Decree: Motion to Modify	<u></u>	
	SB388(2015)	\$	129.00
or enforce a <i>final o</i>	tion/other paper seeking to modify rder issued pursuant to a joint p	etition _	
for divorce (first tin	ne)	\$	129.00
Other Domesti	c Decrees: Motion to Mo	dify	
NRS 19.0312	Reopen Divorce Fee	<u></u>	25.00

On the filing of a motion or other paper that seeks to modify, adjust or enforce a <u>final order not inolving a JOINT</u> <u>PETITION for divorce (and second and subsequent</u> <u>filings on joint decree)</u>	\$	25.00
	-	
Opposition to Motion to Modify		
SB388(2015)	\$	57.00
On the filing of an opposition, answer or response to a FIRST motion or other paper that seeks to modify, adjust or enforce a final order issued pursuant to a joint petition for divorce		
<u>(first time)</u>	\$	57.00
Other Opposition To Motion to Modify	Ś	25.00
INRS 19 1317 Rennen Lilvorce Fee		25.00
NRS 19.0312 Reopen Divorce Fee On the filing of a Opposition to motion or other papter that		

MISCELLANEOUS

Application Re: Exc	essive Liens		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 108.2275	General Fund	\$	85.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
Filing a Domesti	c Relations Action not covered above	. \$	294.00
Minor's Compromis	<u>e</u>		
NRS 41.200	Petition to Compromise Minor's Claim	\$	-
NO FEE REQU	JIRED ON FILING OF PETITION	. \$	-
Documents			
NRS 19.013	General Fund	\$	5.00
NRS 19.020	Clerk Fee	\$	3.00
To file other pap	oers to be kept by the clerk, except for paper	S	
filed in court or b	y public officers in their official capacity and not otherwise provided for	. \$	8.00
Seal			
NRS 19.013	General Fund	\$	6.00
For issuing any o	certificate under seal where not otherwise	\$	6.00
Offer of Judgment			

NRS 17.110	Compromise Offer	\$	10.00
Upon filing an off	Upon filing an offer of judgment		10.00
Peremptory Challens	<u>ge</u>		
	Check payable to Nevada Supreme		\$450.00
Peremptory ch	Peremptory challenge to a District Court Judge		450.00
Filing of a Will			
NRS 19.013 (1)	General Fund	\$	5.00
NRS 19.020	Clerk's Fee	\$	3.00
Wh	en filing an original Will	\$	8.00
Issuance an Original	l Writ		
NRS 19.0302	AB 65	\$	10.00
For the issuance of	any writ of attachment, writ of garnishme	nt,	
writ of executio	on or any other writ to enforce any judgme	nt	
		···· \$	10.00
Qualifying Powers			
	Statutory Fee	\$	15.00
	To File Qualifying Powers	\$	15.00
Statement of Domici	<u>le</u>		
NRS 41.195	Filing Fee	\$	5.00
To File a State	ement of Domicile	\$	5.00

Foreclosure Mediation (petitioner)

Nevada Rules of Foreclosure Mediation Rules 1(2) and 5

NRFM 1(2)	Filing Fee	\$25.00
NRFM 5	Mediator Fee	\$200.00
NRFM 1(2)	State Remittance	\$50.00
To begin a mediation action		\$275.00
Foreclosure Mediation (respondent)		
NRFM 1(2)	State Remittance	\$50
NRFM 5	Mediator Fee	\$200.00
To participate in a mediat	tion action	\$250.00
Confession of Judgment		
Confession of Judgment	Filing Fee	\$28.00

MOTIONS

\$520.00

Filing Fee

Summary Judgment or Joinder

Civil Jury Trial Demand

Demand for jury trial

NRS 19.0302	AB 65	\$	200.00
When filing a Motion for/Joinder to Summary		ary	
	Judgment	\$	200.00

Decertify Class			
NRS 19.0302	AB 65	\$	349.00
When filing a new	w civil complaint (one plaintiff)	\$	349.00
		•	
Transfer of Venu	e from Another District/County		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.013 (1)	General Fund	\$	56.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
	f a transfered proceeding from anot		
county or dist	rict after the grant of a Chage of Ven	ue	
	Motion	\$	265.00
Transfer of Venu	e from Justice's Court		
NRS 19.0313	General Fund	\$	42.00
Prior to filing of	a transfered proceeding from Justic	e's	
Court to District Co	urt after the grant of a Chage of Ven	ue	
	Motion	\$	42.00

PETITIONS

New Petition		
NRS 19.0302	AB 65	\$ 99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$ 9.50
NRS 19.031	Legal Aid 02 (Ind)	\$ 15.50
NRS 380.110	Law Library Fund	\$ 30.00
NRS 19.013 (1)	General Fund	\$ 56.00
NRS 19.030	State Remittance	\$ 32.00
NRS 19.020	Clerk's Fee	\$ 3.00
NRS 19.0303	Court Security Fee	\$ 20.00
When filing a ne	w civil petition (one petitioner)	\$ 265.00

<u>Examples:</u> Petition to Seal records, Petition for Writ of Mandamus, Petition for Writ of Habeas Corpus, Petition for Appointment of Guardian ad Litem; Civil Petition for Judicial Review, Petition for Judicial Review; Miscellaneous Petitions not covered herein).

Minor's Compromise			
NRS 41.200	Petition to Compromise Minor's Claim	\$	-
NO FEE REQUIREI	O ON FILING OF PETITION		-
Additional Petition	<u>ers</u>		
NRS 19.0335(2)(a)	District Court Tech Fund	\$	8.00
NRS 19.0335(2)(b)(1)	Legal Aid (2) (Eld. Ind.) Sr. Ctr	\$	2.00
NRS 19.0335(2)(b)(2)	Legal Aid (2) (Ind)	\$	5.00
NRS 19.0335(2)(c)	State AOC Technology Fund	\$	10.00
NRS 19.0335(2)(d)	State AOC Retired Judges	\$	5.00
For each additional pla	aintiff named in a single civil complaint		
(see example on	back page)	\$	30.00
Petition for Estate or Guardianship Value Less Th			2,500.00
NRS 19.013	No FEE	\$	-
No Fee For P	etition on estate valued at less than	Ş	-
Petition for Estate	Value: \$2,500.00\$20,000		
NRS 19.0302	AB 65	\$	-
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 19.013 (1)	General Fund	\$	72.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	1.50
NRS 19.0303	Court Security Fee	\$	20.00
Estate P	etition between \$2,500 and \$20,000.	\$	180.50

PETITIONS (Cont.)

Petition for Estate Value: \$20,000.00\$200,000.00			
AB 65	\$	99.00	
Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50	
Legal Aid 02 (Ind)	\$	15.50	
Law Library Fund	\$	30.00	
General Fund	\$	72.00	
State Remittance	\$	32.00	
Clerk's Fee	\$	1.50	
Court Security Fee	\$	20.00	
Estate Petition between \$20,000 and \$200,000.			
	AB 65 Legal Aid 02 (Eld Ind) Sr Ctr Legal Aid 02 (Ind) Law Library Fund General Fund State Remittance Clerk's Fee Court Security Fee	AB 65 \$ Legal Aid 02 (Eld Ind) Sr Ctr \$ Legal Aid 02 (Ind) \$ Law Library Fund \$ General Fund \$ State Remittance \$ Clerk's Fee \$ Court Security Fee \$	

Petition for Estate V	alue: More Than \$200,000.00		
NRS 19.0302	AB 65	\$	352.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$ \$ \$ \$	30.00
NRS 19.013 (1)	General Fund	\$	72.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	1.50
NRS 19.0303	Court Security Fee	\$	20.00
Estate Petition Mo	re Than \$200,000	\$	532.50
Petition to Challenge	e Probate Action		
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$ \$	30.00
NRS 19.013 (1)	General Fund	\$	44.00
NRS 19.0303	Court Security Fee	\$	20.00
•	codicil or on the filing of an objection or cross-		
	of an executor, adminisrator or guardian or an f an account or any answer in an estate or	\$	119.00
Petition/Application re: Ex	xcessive Liens		
NRS 19.0302	AB 65	\$	99.00
NRS 19.031	Legal Aid 02 (Eld Ind) Sr Ctr	\$	9.50
NRS 19.031	Legal Aid 02 (Ind)	\$	15.50
NRS 380.110	Law Library Fund	\$	30.00
NRS 108.2275	General Fund	\$	85.00
NRS 19.030	State Remittance	\$	32.00
NRS 19.020	Clerk's Fee	\$	3.00
NRS 19.0303	Court Security Fee	\$	20.00
Filing an action allo	eging frivolous or excessive liens	\$	294.00

PETITION FOR GUARDIANSHIP VALUE: MORE THAN \$250

\$5.00

- A. A complaint is filed with four plaintiffs. The filing fee would be \$270 for the first plaintiff plus \$90 (\$30 for each additional plaintiff).
- B. In response, three defendants respond with one answer; the filing fee is \$223 plus \$60 (\$30 for each of the two additional defendants).
 - * Another defendant answers individually and pays the \$223
 - * An additional five defendants answer jointly and pay \$223, plus \$120 (\$30 for each of the additional four defendants).
- C. The complaint is amended to add two plaintiffs. The fee would be \$60 (\$30 for each plaintiff added)

^{*}Examples: Multiple Party Civil Filing Fee (Source: Letter dated 6/23/03 from Administrative Office of the Courts, Supreme Court of Nevada)